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General Instructions :
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This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A

*  Multiple choice questions / Fill in the blanks/Direct questions :
contains total 12 questions of 1 mark each. Answer
any 10 questions.

o Very short answer type questions : contains total 7 questions of
2 marks each. Answer any 5 questions.

e  Short answer type questions : contains total 7 questions of 3 marks

y each. Answer any 5 questions.

SECTION B

Long answer | Essay type questions : contains total 7 questions of 5 marks
each. Answer any 5 questions.
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Answer any ten of the following questions :
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Total cost is equal to

(a)  Selling and distribution expenses + Cost of sales

(b)  Selling and distribution expenses + Cost of production

(¢)  Selling and distribution expenses + Cost of raw materials
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Job costing is suitable for

(a)  Firms manufacturing goods on a continuous basis

(b)  Firms manufacturing goods for common use

(¢)  Firms manufacturing goods to customers’ specific requirements

3T ARG TRETHA 9 7T Iugh 78 2
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Job costing is not suitable for

(a) Printing press

(b)  Transport companies

(¢)  Repair workshops
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Out of the following, this is the one in which method of contract costing is
applied :

(a)  Breweries

(b)  Constructional Engineers

(e) Automobiles
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When a contract is completed to the extent of 10% of the contract price,
profit transferred to credit side of Profit & Loss Account is

@ 1 rdofProfit

3
(b) § rd of Profit
(c) Nil
Tt wfthe & g 8T % HROT B et B

(%) fskn @ § Hfee #= & s
(@) whsrn @ 2fe o & Joh
(M) vE @ § Sfae W@ soh
Lt.!)ss due to normal wastage in a process is
(a) Credited to the Process Account
(b)  Debited to the Process Account
(¢)  Debited to Profit & Loss Account
4
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A process loss that does not affect the cost per unit is
(a)  Abnormal loss

(b) Normal loss
(e) None of the above
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Process cost is ascertained and recorded in

(a)  Profit & Loss Account

(b)  Balance Sheet

(¢) A separate account
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The best method of costing in respect of electric supply undertakings is
(a)  Process costing

(b)  Service costing

(¢)  Contract costing
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The need for reconciling financial and cost accounts arise
(a)  To check arithmetic accuracy of both accounts

(b)  To facilitate audit work

(¢)  To comply with statutory obligations
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The prime cost of a product is 80,000 which includes the labour cost of
¥ 30,000. If works overhead is charged as 50 percent of labour cost, the
works cost will be

(a) ¥ 1,10,000

(b) ¥ 95,000

(c) ¥ 1,45,000
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(M) forfra st @ = e fr s
Interest received on investments will be

(@)  Credited to Costing Profit & Loss Account
(b)  Credited to Financial Profit & Loss Account
(e) Debited to Financial Profit & Loss Account
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Answer any five of the following questions :

13.

14.

15.

16.
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Define unit costing.

AT foe v (Hiwe wie) & Haett wure (BhY) % foha 7o 1 S@T =aER
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State the treatment of sale value of factory scrap in cost sheet.

@q(ﬁa)amé@mﬁﬁaw@wwﬁmwm%?

What do you mean by Economic Batch Quantity in batch costing ?
wﬁﬁaﬁ%mﬁmé&wmmsﬁsﬁmmmﬁmﬁ% |

State how profit or loss on incomplete contract is computed at the end of
the year.
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What is a joint product ? Give two examples.

18. UNETEH Td A@ish 47 § ?

What is operating costing ?

19. ¥ forgl IR IUHl & A SART W@ AN 6 R % foe aREe |
TRETRA T ITIRT feram ST 2 |
Name any four undertakings where operating costing is used for
ascertaining cost.

Frafafes # 9 foredl uie wwl & 3a¢ & 3x5=15

Answer any five of the following questions :

20. iEEd w4 Ifea == (W 96w) =i gfonfya Hifve | =fae == &
2 3T AT |
Define the term Running Charges in transport companies. Give two
examples of running charges.

21. TTE @Al a1 foflw @l & " e s@ 6 EvEsar saR |

State the need for reconciliation between cost accounts and financial
accounts.

22. 9P @l qut foxfiw w@ral gr feEme o emd § ofr % R W wwont w6
3@ Hif |
Mention any four reasons for difference in profits shown by cost accounts
and financial accounts.

23. IURR AN AW (STe HIET) T 9 FAT G 8 ? ITFE A0 @A
% Y FaTs |
What do you mean by Job Costing ? State the advantages of job costing.

24. WY VG QR (S Hife) 6 gftarr A | W@ S sa & 9w faflse
SRl WY AT AR A G 1 e o ] | Wy awa i qen
ITHE AN AGTHA o S R T |
Define Batch Costing. Name two industries where batch costing is the
most suitable method of costing. State the difference between batch
costing and job costing.

25. CNA-AIS (HTE TF) Hi T 3 T THIA & ? SHeR hH] ANA-IS Sl *
T 1Y § 2
What do you mean by Cost-Plus Contracts ? What are the advantages of
cost-plus contracts to the contractor ?
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Explain ‘Escalation Clause’ in contract costing. State the situation when
the escalation clause is of utmost importance for the contractor.

QU T
SECTION B
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Answer any five of the following questions :

27. T UREE Ffl, Rl Yaem, 2018 #1E % fou ws 3w ¥ wefm
frefofen s wegqa oo 2

=
@) SIS, HrSFI qT TR hl Aorghy 3,600
Gi) €99 @ aw 10,320.
(iii) % U9 GUETESR & S 1,500
(iv) 90Hd U8 [@@E 1,200
(v) T 2,400
(vi) Heus™ 3,900
(vii) o 3,000

& WA T T AT % N T A g 8,64,000 Feeht o, dah 7 7oy B
sfa fererdier e fsifer |

Maruti Travels, a transport company, provides the following data with
regard to a taxi for the month of June, 2018 :

7
(1) Wages of drivers, conductors and cleaners 3,600
(ii) Diesel and oil 10,320
(iii)  Salaries of staff and supervisor 1,500
(iv) Repairs and maintenance 1,200
v) Taxation and insurance 2,400
(vi) Depreciation 3,900
(vii)  Interest 3,000

Calculate the cost of running of taxi per kilometre assuming the distance
covered during the month is 8,64,000 km.
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COR R 850

T ASigdl 18,450
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Tosra iy 2,450
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A toy car manufacturing company has produced 1000 toy cars. The
company has incurred the following expenses on 1000 toys cars :

=

Raw material purchased 35,250
Carriage on purchases 850
Direct wages 18,450
Factory overhead 2,750
Selling overhead 2,450
Office overhead 1,850
Sale of factory scrap 250
Additional information :

‘ Opening stock of raw material 9,750
Closing stock of raw material 11,100

Prepare Cost Sheet and calculate the cost of sale per toy car.

T foao o (S wfie) i wRenfia i | serusl R e e
T % T AR | AT oo v % Rl vest A g s

Define Cost Sheet. State the benefits of cost sheet to the management.
List the different components of cost sheet.
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ESCErsd 6,400 12,000
g3fq =g 3,600 3,000
HREHT I9fsgy 2,000 2,250
%= 0T HT 399 24,000 it
gfawe # 78 gt (FheA) 37,000 S
& (F) 1,000 1,500
I, 1 59ed, 2019 =l 4,000

| R, 31 9=, 2019 faii 1,000

From the following data prepare Process Cost Accounts showing the cost
of output and cost per unit, at each stage of production :

i Process I . =
T g
Direct wages 6,400 12,000
Machine expenses 3,600 3,000
Factory overhead 2,000 2,250
Raw material consumed 24,000 -—
Units Units
Units introduced (Gross) 37,000 —
Wastage 1,000 1,500
Stock, 1% January, 2019 — 4,000
Stock, 31% January, 2019 — 1,000

mmaﬁ@wnﬁmaﬁw%?maﬂmﬁmﬁﬁw
ﬁﬁmmmﬁawmmﬁs’m% | Sfseen @ @t § gy
B Jo1 ST =1f % e SIFER I TR |

What is Normal Process Loss and Abnormal Process Loss ? State the
factors/causes due to which normal loss and abnormal loss arise. State
the accounting treatment of normal loss and abnormal loss in process
cost accounts.
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It w1 26,000
LEL 35,000
JoIe 20,000
97wl 10,000
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Shri Manu undertook a contract for constructing a bulldmg on
15t January, 2018. The contract price was T 89,000. :

He incurred the following expenses :

F
Materials purchased 26,000
Wages 35,000
Direct expenses 20,000
Plant purchased 10,000

The contract was completed on 315' December, 2018 and the contract
price was duly received. The cost of materials in hand at the end was
¥ 1,000. Prepare contract account in the books of Shri Manu. Provide
depreciation at 10% on plant and charge indirect expenses at 20% on
wages.

AT @R a9 faeita e & Wi o & fargadl @i wmesy |

* Explain the points of difference between Cost Accounting and Financial

Accounting.
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